3% WolframAlpha

[ v1=120, v2=120i, v3=14.14213562+14.14213562i, v20+v3=v10, ((VlO—vl)/2)+(v10/—5i)+(v20/4iE(}20

Input interpretation:

{Vl = 120, v2 = 1204, v3 = 14.14213562 + 14.14213562 i,

v10 -vl v10 v20 v20 —v2
v20+v3=v10, —— +—— i+ — i+ ———— = 0}
2 5 4 4
i is the imaginary unit »
Result:
vio—-vl ivl0 v20-v2 iv20
{v1 — 120, v2 = 1204, v3 = 14.1421 + 14.1421 i, v20 + v3 = v10, - + + = 0}
2 5 4 4

Alternate forms:
{vl =120, v2 = 1204, v3 = 14.1421 + 14.1421 4,
vl0 =v20+v3,10vl = (10-4i)v10+5v2 - (5+5i)v20 = 0}

{v1 =120, v2 = 1204, v3 = 14.1421 + 14.1421,
1
v20 +v3 = v10, — (=101 + (10 = 4§)v10 - 52 + (5 + 5i) v20) = 0}
20

1 i vl 1 v2
{vl =120, v2 = 1204, v3 = 14.1421 + 14.1421 i, v3 = v10 — v20, (— + —JVZO = — - [— - —)V10+ —}
4 4 2 2 5 4

Expanded form: Step-by-step solution

{Vl = 120, v2 = 1204, v3 = 14.1421 + 14.1421,

vl 1 i v2 1 i
v20 +v3 = v10, -_+(_— —]le— _+(_+ —]VZO: 0}
2 |2 5 4 \4 4

Alternate form assuming v1, v10, v2, v20, and v3 are real:

{Vl = 120, v2 = 120, v3 = 14.1421 + 14.1421 4,

vl v20 v10 vli0 v2 v20
%)

v20+v3 =v10, - — +1i +———+—=0
2 2 4 4

———

Complex solution: Step-by-step solution

vl ~ 120. +0.i, V10~ 82.9266 +43.8996i, V2~ —5.68434x 107 +120.i,
v20 ~ 68.7845 + 29.7575i, V3 ~ 14.1421 +14.1421i
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